= AH O
Nl = 0 A & & Al A
2011E T =0A B3| H 250D ~ 250D
SA: 250s
MM Y 25020 AW 23
cHel: XYesEe ECRE
_ _ _ MEc
2N - FHH..2A(SH) - HIEAMY - BHAS (] AFoH '@,‘;OH Hl =2
2310l = 68,771,779 61,866,934 6,904,845
2 25,291,477
2 15,718,000
Il 2,562,500
g 3,240,000
[ 21,959,802
4 23510120 M A3 27,555,209 36,236,500 A8,681,291
2 3,744 677
2 9,640,000
p] 1,547,500
2 160,000
[ 12,463,082
X2 sag 3,218,800 3,296,800 A78,000
NL2se AS =X 292,050 818,000 A525,950
307 912+0 & 10,000 10,000 0
02 DIZHHAEE 10,000 10,000 0
0232 AIRES 9etns 10,000
308 XX SHAISO0IA 282,050 338,000 A55,950
01 MXSHBMEED 282,050 338,000 55,950
OX S5 AL SET 161,500
OS5 DAY AR 200,000, 0002 *25% 50,000
OXL=252 sEpl= 22 AlY X 53,550
OS5AR ANDE 17,000
NASELSEHS SR 314,500 394,500 80,000
201 LBt Y 4,500 4,500 0
01 A2 2t2l] 4,500 4,500 0
OZHAARE 2Hag 4,500
308 XX SHAISO0IA 310,000 390,000 A80,000
01 IXSHMBALEED 310,000 390,000 80,000
OXdstE2s=H XA 310,000
BT 2352 S A 1,185,000 300,000 885,000
201 LBr2H| 35,000 45,000 A 10,000
01 A2 2t2lt| 35,000 45,000 A10,000
OMRSSMY =X 35,000
306 2012 1,150,000 250,000 900,000
01 2012 1,150,000 250,000 900,000
OSEUSSAF 22t 100,000
OMHSE SR A 50,000
OMANSEM M X2 1,000,000
250 2 137,250 249,300 A 112,050
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SN
X XH .
S Tt

el

I
[
2

el

20
B
2

= 421,777
= 421,777
SEAHEIZIALY 104,000 104,000 0
Il 52,000
S 52,000
307 2120l & 104,000 104,000 0
Il 52,000
S 52,000
02 QIZtAAEX 104,000 104,000 0
OSGAEEIZUALE 104,000
p) 52,000
= 52,000
et=elEM=FNE O 60,000 68,000 /8,000
308 XNHXISHHSOIE 60,000 68,000 28,000
01 XM EXS 60,000 68,000 /8,000
OHMI522] &=8l=0 45,000
OHMI18e] d=&Fad 15,000
N2t z=wSHEHAY 300,000 300,000 0
= 150,000
= 150,000
307 2120l & 300,000 300,000 0
= 150,000
< 150,000
02 YIS Ex 300,000 300,000 0
OXNE2&tllz=n=s 300,000
= 150,000
S 150,000
=23 l=dSAY 30,000 50,000 20,000
308 KXIHHMSOIE 30,000 50,000 20,000
01 MXEMBHELS 30,000 50,000 220,000
O3 F==HMO0l=x 100,000,000 *30% 30,000
AN Z23H0l=w S ALY 245,000 120,000 125,000
= 245,000
308 AHXIEHMSOIA 245,000 120,000 125,000
=2 245,000
01 MXEHIANELS 245,000 120,000 125,000
OAEl 230l B F Al 245,000
=2 245,000
S AH0I=H A 100,000 100,000 0
= 100,000
308 NHXISHHMSOIE 100,000 100,000 0
= 100,000
01 MXEMISELS 100,000 100,000 0




SH: 280D
Ha: B9 25029 IWA L5
Sl XgoE 92 R (e @
_ _ HE T
SA BB H(BH) - MBAY - B2 Ofl & o il b o HRs2
CERLEEEEETETE 100,000
Z 100,000
NEELTEEESETCND 643,000 666,500 23,500
307 212+0| & 395,000 450,000 55,000
04 DIRISALEE 395,000 450,000 55,000
ONUSEHHES S 2 395,000
308 X+XIEHHI SO & 248,000 216,500 31,500
01 MXSHHZAHEES 248,000 216,500 31,500
OA 2| X =10l &S X & 60,000, 0002 *30% 18,000
OAAR XA25 HaHS X2 230,000
ROt 2ESAY 208,000 208,000 0
& 160,000
= 48,000
308 X+XI IS Ol & 208,000 208,000 0
= 160,000
= 48,000
01 MXSHAZHEES 208,000 208,000 0
OROIIE2FEE A 208,000
s 160,000
= 48,000
Yoz 29 5,042,715 5,080,500 ~37,785
308 XHXI IS O & 5,042,715 5,030,500 12,215
01 HXCSHBALSES 5,042,715 5,030,500 12,215
Osg=UBsARY 1,426,450
OBZREAHSY 2,405,422
OsdRAL2SY 905,843
OBZoz=A2Y 305,000
XIS 2 510l & S ALK 2 30,000 60,000 30,000
308 X+XI IS Ol & 30,000 60,000 30,000
01 MXSHAZHEES 30,000 60,000 30,000
O3 BAHMEH 20,000, 0002 *30% 6,000
OF% 223903 60,000, 0002 *30% 8,000
OBZ A= 10,000, 0002 *30% 3,000
022X =2H=H 10,000, 0002 *30% 3,000
Ne2stHe=csl X 234,000 390,000 156,000
308 X+XIEHHIS Ol & 234,000 290,000 56,000
01 MXSHAZAHEES 234,000 290,000 56,000
O%SA B2l & - FIHS
200,000, 00024 *30% 60,000
OMIMAHS =01 TH= H 400,000,000 *30% 120,000
ZANERF255008 180,000, 0002 *30% 54,000
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SN2
HH: 5

= 3
5ol Xgds <2 Mo (98

1
x
X
o
i
10
5
X
=
1
=
1%
g
0x
i
2
>
]2
=20
R
12 H
o
£l
Ol
0y

NEEEEI 655,000 0 655,000

327,500
327,500

>

307 2120l & 655,000 0 655,000

327,500
327,500

LS!

=
e
FH
o
HT
b

655,000 0 655,000
200,000
100,000
100,000
155,000
77,500
77,500
OS¢ FHAMSLEXE 200,000
100,000
100,000
OdXNegAZZISHKXA 100,000
50,000
50,000

O
b
12
Mo 0
for
2
M
S
Jor
=
1L

<

O
0u
e
2
Wy
fa
1
ikal
of
k)
o
>
110

<

LS!

LS!

SoHIRHALS 1,238,000 0 1,238,000

1,168,000
70,000

Hhn <

308 AXIEHSOIA 1,238,000 0 1,238,000

1,168,000
70,000

<

01 MXEMBSELS 1,238,000 0 1,238,000
SH A 1,238,000

1,168,000
70,000

LES!

ZIANE EF E 2Z 14,603, 140 24,516,900 29,913,760
2,927,900
9,540,000
2,135,240

HoR

SEAM2 g K& 4,590,000 4,785,000 A 195,000

3,518,000
1,072,000

H o

403 AXIHHSK=201H 4,590,000 4,785,000 A 195,000

3,518,000
1,072,000

H o

= 4,590,000 4,785,000 A 195,000

SA2 AE 2,200,000

1,600,000
600,000

OHStsHESS A2 2HE 988,000

598,000

390,000

H o

H o




PN 230=1
B By 2oz ZHA 2
Sl RHAIM BE L 2Y (e @8
_ _ _ Muo
SNBSS - HRAY - BHES 01l & o4 e HlnE2
ORHIEHsESSEAZ HE 1,402,000
& 1,320,000
L= 82,000
ST ME A HE 471,900 597,900 2 126,000
= 471,900
308 MXIHHMSOIA 471,900 597,900 A 126,000
= 471,900
01 IXNHMBLNEEXS 471,900 597,900 A 126,000
OZ33= M2t A2 AEXJ 471,900
= 471,900
N2 =24 XA 440,000 0 440,000
= 310,000
= 130,000
403 X HMEAH=01H 440,000 0 440,000
= 310,000
L= 130,000
01 RXSMA2E = 440,000 0 440,000
oXx2EM2 =4 K& 405,000
= 310,000
& 95,000
OX2eM2 =48 XA (KA) 35,000
SN2 28 2 2 X 85,240 72,000 13,240
307 212t01& 70,240 72,000 A 1,760
02 QItBAE X 70,240 72,000 21,760
OsdEEN2 28 K& 67,000
OZOMA M2 AIESALR XML& 3,240
403 X EHMEAH=01H 15,000 0 15,000
01 MXISHMAZE = 15,000 0 15,000
OZgHE3EA2 2|22 E 15,000
Foa2 g ¥ B+ 400,000 500,000 A 100,000
= 400,000
403 XXM SA=201H 400,000 500,000 2100,000
= 400,000
01 MXESHMA=2E R 400,000 500,000 2100,000
Oz 2= 400,000
= 400,000
g2z 2 D=2 X3 154,000 154,000 0
201 B3| 4,000 4,000 0
01 AtE222/Hl 4,000 4,000 0
Oogt=z & s MERRS 28+ 4,000
308 MHXIHHMSOIA 75,000 75,000 0
01 MHXSHBAEEXZ 75,000 75,000 0




SN 2s0z
Hy: B4 25050 ZHH A5
Sol RSN 2HE L 29 (Erol: @2
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 O &t 04 Sl ko HRE2
Owrga o D22 29 245 N 75,000
403 XX HSA=01H 75,000 75,000 0
01 RXESHMA2E = 75,000 75,000 0
Osf2R o 022 2o BEAL N 75,000
0= IEAExY 280,000 1,334,000 A1,054,000
= 280,000
403 AXIHHSA=201H 280,000 1,334,000 A 1,054,000
z 280,000
01 AXESMIA2E = 280,000 1,334,000 21,054,000
OR0 UEY 23t 218 280,000
2 280,000
HSAEE +=FH| 1,065,000 2,250,000 21,185,000
= 710,000
& 355,000
403 REXIEHH SXHE 0l H 1,065,000 2,250,000 1,185,000
2 710,000
= 355,000
01 XM= E X 1,065,000 2,250,000 A 1,185,000
OHEAER LT 1,065,000
= 710,000
= 355,000
NSESAIE 2 339,000 354,000 A 15,000
201 LetEHH| 4,000 4,000 0
01 AtER22/Hl 4,000 4,000 0
OHSAERESAS B2 4,000
403 XX HMEA=0IH 335,000 350,000 A 15,000
01 XXX 2 X 335,000 350,000 15,000
OXNYHESAEE 2=FHl(pool ) 335,000
5,20 AAMSEA =4 3,600,000 4,000,000 2400,000
= 3,600,000
403 XXM SAH=201H 3,600,000 4,000,000 A400,000
& 3,600,000
01 RXSHMA2E = 3,600,000 4,000,000 400,000
O3F, B0 AT Al =24 3,600,000
= 3,600,000
ZUHAERA 22 HsHRYEE =4 1,436,000 2,100,000 A664,000
= 1,436,000
403 AXISHHSK=201H 1,436,000 2,100,000 A664,000
= 1,436,000
01 AXESMIA2E = 1,436,000 2,100,000 664,000
OZHAYRA B8 HSHNUE XX 1,436,000
2 1,436,000




SM: 280D
ol 54 2o0S0 FHA 23
Sl 2SAE BHE L 29 (25 &2
_ _ _ Muo
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
SsHAlE SIRAIE R XIS 3 (BTL) 1,742,000 1,114,000 628,000
2 1,742,000
403 XHXISHHIS XH2 O & 1,742,000 1,114,000 628,000
3 1,742,000
01 RXSAX= LSS 1,742,000 1,114,000 628,000
OHASLT AR 212 (BTL) 259,000
=l 259,000
OLENKSFHATZME 212 (BTL) 808,000
=l 808,000
ONE=8 2552 212 (BTL) 675,000
Z 675,000
SsigMel HHN 2Z FS 40,615, 150 24,829,014 15,786, 136
= 21,546,800
=l 6,078,000
o] 1,015,000
= 3,080,000
7 = 8,895,350
SHSH BE U HS 843,750 1,503,482 £679,732
= 100,000
= 80,000
= 663, 750
R S|P 2E 656,000 1,233,482 AB77,482
= 100,000
= 80,000
= 476,000
308 X+XI IS O & 506,000 483,482 22,518
= 80,000
= 426,000
01 MHXSHHBABES 506,000 483,482 22,518
ORERHN HSNAS (2SN, 1) 402,000
ORESSHH THEA S X2 104,000
= 80,000
= 24,000
403 XX SHHIS K20 & 150,000 750,000 600,000
= 100,000
= 50,000
01 MXSHIZ2E 150,000 750,000 600,000
OJIRA ECH2IDl AR X4 150,000
= 100,000
= 50,000
N 2sH(25HT) 0l &M S =0y 66,000 115,000 49,000
308 XHXIEHHIS O & 66,000 115,000 49,000
01 MHXSHBH2EZ 66,000 115,000 49,000
OXNSSs0lZ MBS 220,000,0002 *30% 66,000
LR RESBE 121,750 175,000 A53,250




PN 230=1
FH: 2ERA MAY BEE 85
& LE2IM BEE L S (ctel: &
SN I SRI(S) - NRAY - B 0fl b Soe B RS2
307 QI2t0IA 46,750 55,000 A8,250
04 SIZFSALE X 46,750 55,000 28,250
OREEM B&3 5 K& 46,750
308 XX SHHSOIA 75,000 120,000 245,000
01 XML EXZ 75,000 120,000 A 45,000
OE&IIXIAl £Celd| HHEAF K&
200,000, 000& *30% 60,000
OZ4E=2Xd(d¢=, 3) 30,000,000 *50% 15,000
NE2s E=2c 36,303,900 19,474,488 16,829,412
= 21,331,800
& 4,400,000
= 3,000,000
& 7,572,100
IONEEZ3M s 2tel X3 20,000 20,000 0
= 20,000
308 NXEHHSOIH 20,000 20,000 0
= 20,000
01 XM EXS 20,000 20,000 0
O=JI23H XS I 22 20,000
= 20,000
NS 223l (POOL) 950,000 945,000 5,000
403 AXIHHSA=201H 950,000 945,000 5,000
01 MXISMAZ2E = 950,000 945,000 5,000
OXN 23 E 2=t (pool) 950,000
ESSANES EHl 300,000 350,000 250,000
403 AXSHMSAH=201H 300,000 350,000 50,000
01 XM= E = 300,000 350,000 A 50,000
OB=ZAE= &l 300,000
MNEXEEZ3HM 2+F4] 3,900,000 3,710,200 189,800
= 3,000,000
& 900,000
403 XXM SA=201H 3,900,000 3,710,200 189,800
= 3,000,000
& 900,000
01 AXSHMA2E = 3,900,000 3,710,200 189,800
OANEXNEEZ3M E==FHb| 3,900,000
&2 3,000,000
= 900,000
ot etifet E+FHl & S2HH B+Fd| 38,000 54,000 216,000
403 XX SHMSA20IH 38,000 54,000 216,000
01 AXESMIA2E = 38,000 54,000 216,000
OEXNEZsM etifetE 2 S2HXE X 38,000




2M: 250sD
HH: 2560 MU 2= M
ool NIRSEN 2E2L EEREE]
_ _ _ Muo
SH-EFHHA(FA) - NIRAE - BES O AFH 'oﬂ/'\_WH Hlws2
SIWEE el N 28, 175,000 13,889,796 14,285,204
= 21,250,000
2 2,300,000
[ 4,625,000
403 RtXISHH S K20l H 28,175,000 13,889,796 14,285,204
= 21,250,000
= 2,300,000
= 4,625,000
01 XIXSGHSEX 28,175,000 13,889,796 14,285,204
O 252 232X | 4,250,000
= 3,500,000
[ 750,000
O HSE T Bo=H| 12,750,000
= 10,500,000
[ 2,250,000
O2INE S=2s ) 24+E| 375,000
= 250,000
[ 125,000
ONERE U SHANY(BE.20) 8,500,000
= 7,000,000
= 1,500,000
OXNASs SUNL(ELM JH) 2,300,000
2 2,300,000
DS EIH0I1YAD| ALY 62,900 57,218 5,682
= 51,800
[ 11,100
403 XX S S KH= 0| & 62,900 57,218 5,682
= 51,800
= 11,100
01 RHXSH=EE 62,900 57,218 5,682
ODIE FIH0IAAI ALY 62,900
= 51,800
[ 11,100
SAHSS BT S2IE B 108,000 180,000 AT2,000
308 KXl EHHI SOl & 108,000 0 108,000
01 HXESHBAEES 108,000 0 108,000
OENHS SAVIFEIIZ(Q) Ha
360,000, 0002 *30% 108,000
SNOIZ XA 2,730,000 0 2,730,000
= 2,100,000
[ 630,000
403 T SHEX 20| H 2,730,000 0 2,730,000
= 2,100,000
= 630,000
01 MIXSHSEX 2,730,000 0 2,730,000
OZMIIS X4 4,200,000,000%! *65% 2,730,000




SN
X{ ZH -
S Tt

=l

Al OH

— T

20
B
2
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2,100,000
630,000

5,000

5,000

5,000

5,000

0
i

Pl

5,000
5,000

5,000

o

15,000

10,000
5,000

15,000

o

15,000

10,000
5,000

15,000

SRR

15,000

15,000

10,000
5,000

15,000

H o

1,843,000
65,000
1,678,000
100,000

1,720,000

123,000

>

-~

O

500,000
500,000

900,000

400,000

o

ok

500,000
500,000

900,000

400,000

o

o1}

500,000

500,000
500,000

900,000

400,000

H o

—_

,278,000

,178,000
100,000

—_

810,000

468,000

100,000

100,000

200,000, 000*50%

100,000
100,000

100,000

-~

o

—_

, 178,000
, 178,000

—_

810,000

368,000

-~

= 0

1=}

=

ol

—_

, 178,000
728,000
728,000
250,000
250,000
200,000
200,000

810,000

368,000

H

55,000
55,000

55,000




SN 202D
HH: 2524 HAHR BE B
Sl 2HRNMO YWY L 2 (el &2
_ _ HE T
SN -EHH . (B) - MPAY - BE2 O] Ak 4 il b o bRz
308 XHXISHHSO0IE 55,000 0 55,000
2 55,000
01 RASHZLRES 55,000 0 55,000
O2HWEE 24AY 55,000
2 55,000
SHRUDS 053D 2Y 10,000 10,000 0
2 10,000
308 XX EHHISOIF 10,000 0 10,000
2 10,000
01 RXCSHZLBES 10,000 0 10,000
ORHRMDE 2Latn N 10,000
2 10,000
S BWAL 2= 1,624,500 2,011,044 386,544
2 50,000
] 1,015,000
= 559,500
SaMSE B MY 316,000 266,844 49,156
] 280,000
= 36,000
308 XXM SOIE 316,000 266,844 49,156
] 280,000
= 36,000
01 RASHZLRES 316,000 266,844 49,156
OSHWSLB2IAL 316,000
] 280,000
= 36,000
ZQSI2S LA BHXI ALY 390,000 233,700 151,300
] 300,000
= 90,000
308 XHXISHHSOIE 390,000 233,700 151,300
] 300,000
= 90,000
01 RACSHZLBES 390,000 238,700 151,300
OZQSZ2s M 2A2 X 390,000
| 300,000
= 90,000
ERSXLAMYMALTER 520,000 1,000,000 480,000
] 400,000
= 120,000
403 XX SIS KH2 0l 520,000 1,000,000 480,000
] 400,000
= 120,000
01 KXIGHAX= 2 E 520,000 1,000,000 480,000
OZQ2Z28 YMALTE L X2 520,000
| 400,000




M 2302
B 2slpMo MHE BE Mo
o9l 2E YHAIL 7S (el @R
_ _ _ Muo
SA-E . S(E) - MEAY - BES 01l &4 24 i SImE=ET
| S 120,000
SANE2a N SHAIE 2=KH 284,000 405,000 A 121,000
403 XXM SA=201H 284,000 405,000 A 121,000
01 AXESMIA2E = 284,000 405,000 A 121,000
OEXNEZ3 M EMAE 25 284,000
SIHNEEZ3HM HIIAME RS 75,000 15,000 60,000
= 50,000
= 25,000
403 X HMEAH=01H 75,000 15,000 60,000
= 50,000
< 25,000
01 TXIEHMAZE = 75,000 15,000 60,000
O=2INEZ3M MIIANER= 75,000
= 50,000
= 25,000
SRSXIEIM Yat2e 9 N 39,500 0 39,500
Il 35,000
S 4,500
308 XX HHSOIA 39,500 0 39,500
Il 35,000
< 4,500
01 MXEMIANELS 39,500 0 39,500
O SN gatate] 89 & 39,500
Il 35,000
= 4,500
Heas(2st0=n) 500,000 700,000 A200,000
LHEHCHXIE 500,000 700,000 200,000
Esi=dslI=2d 500,000 700,000 A200,000
02 JIsdEs 500,000 700,000 A200,000
01 JI=dE=S 500,000 700,000 A 200,000
OSsSaEIIS HE2 500,000
HH2FZHI(250=) 101,420 101,420 0
Jl=2&Hl 101,420 101,420 0
Zot0l= eI 101,420 101,420 0
201 Lt 46,000 46,000 0
01 AtR2teld] 46,000 46,000 0
SELT TR 46,000
202 (4Hl 44,620 44,620 0
01 =AY 44,620 44,620 0
LR RS 44,620
203 ¥R =& 10,800 10,800 0
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